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B Examples
clc ; no operand, just a mnemonic
inc ax ; single operand
mov ax, bx ; two operand

B IOJHAXC] & (1) an immediate value (2) a register
(3) a variable/a memory location

10 immediate value
ax register
count variable } memory
[200] memory location
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CPU / memory
instruction |/
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register varl
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bx
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B Sample assembly language program for debug (DOS&)

mov ax, 5 ; ax € 5h

add ax, 10 ;ax € ax + 10h

sub ax, 6 ;ax € ax—1h

mov [120], ax ; M[DS:120] € ax

int 20 ; halt the program (DOS system call)

\ mov ax, 4c00 2 HIRO & =
int 21
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= program Ztd 9! CIHZ
assemble
go (execute)
display registers
proceed program
trace
unassemble
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help
quit
hexadecimal addition & subtraction
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dump memory

enter bytes

fill a single value

compare one memory range with another
move bytes from one memory range
search a memory range for a value

file name (L, W command7} Al&)
write into file (cx: A Z&El= 3 7))
load from disk

output to a port

input from a port
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C> debug
-a ;IR U (VKO IPRE])
-a 100 ; JOOHX|HE T2 130 Q12 (assemble)

1A3C:0100 mov ax,5

1A3C:0103 add ax,10

1A3C:0106 sub ax,4

1A3C:0109 mov [120], ax

1A3C:010C int 20

1A3C:010E

“pEETL D2 THAIN &

AX=0005 BX=0000 CX=0000 DX=0000 SP=FFEE BP=0000 SI=0000 DI=0000
DS=1A3C ES=1A3C SS=1A3C CS=1A3C IP=0103 NV UP EIl PL NZ NA PE NC
1A3C:0103 051000 ADD  AX,0010
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-d 120 ;HRE g &3 (DS)
-d 120121 ; 120HX|HE| 121HX|7H7] LI =3
-u ; HIR2 2] L2 unassemble (CS)
-u 100 ; 100EH X| H E{ unassemble
-r ; register LH2 =3
- rax ; register AX L BHZA
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-q ; debug &8
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